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Please check that this question paper contains 11 printed pages and 2 pages of maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 22 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

64/3

(i)
(ii)
(iii)

(iv)

v)

(vi)

(vii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
these one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and labelling
of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached within your
answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.
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1. “@fer gEmeEt & Teen S qid STEvTehdl 2 |7 =IRETd 38UsT | 1

“There an urgent need to conserve mineral resources.” Justify.

2. i aes wied (+f.3TR.31.) % YW B H1 oo HIT | 1

Mention the major function of Border Road Organisation (BRO).

3. @i aqs RIS TR 7 3HHT T oy Tt | Vot =1

What is ‘Golden Quadrilateral’ ? Give one advantage of it.

4. RS FET &1 § Tl SUTa TeN & 3T%e 1 8 ? 1

Why is sex ratio in Asian urban areas remains male dominated ?

5. Toga@e wAdwE ? 1

What is the meaning of ‘open cast mining’ ?

6. ‘T 3T CE’ HiY I ST HIFT | 1

Explain ‘Slash and Burn’ agriculture.

7. ‘&g & FRSH hl HehedqT shl 9 hif | 1

Examine the concept of ‘Target Area Planning’.
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10.

11.

12.
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IS SR Tsgi o FolT qreqt forg Teh X sTereh B 7 Tse hIfTT |

Explain how the International trade is mutually beneficial to nations.

“HTLd | 2T 1Y h THE@ TGT @ |” U 1 JeATHA T |

“The industries are major air polluters in India.” Evaluate the statement.

“Sepfel STEET TEH Ul & JIT T ST IUINT hicll § T ei-i Fepfer o1 ATefiento
B STAT R |7 39 Y <l JHIG HIf |

“Nature provides opportunities and humans make use of these and slowly nature gets

humanized.” Substantiate the statement.

IZ Teh Ao TG B w71 Wt o o 99 & § gEhL WA-He ohl oo TUe i
QIS | e o 9TeL W0 U4 Gol & § o1 @ 3§ | 98 W8l o 99 U8 Hgwqul 3TN
forepférd 21 STd 2, STaf § Wi gsMRi Safe 379+ =X & HREeal T 3ATd-31d 2 |

S 2 M, Agese % Hey # qMe o oY s vAiene % qedl i =AEEd
CINELRE

It is a new trend of people moving away from congested urban areas to cleaner areas
outside the city in search of a better quality of living. Important suburbs develop
around major cities of the world and everyday thousands of people commute from

their homes in the suburbs to their work place in the city.

In the light of the above paragraph, justify the values of cleaner environment

for humankind.

Wit 3maTid 3T fre YRR e neTia a8 = 8 2 wse shifdw |

How are mineral based industries different from chemical based industries ?

Explain.
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13. @ 7 arfetert 1 TraETIgES TeEE Hifere 3R 3T et fou 7 et & 3w fofau -

1+2=3
WA — TR 1 JgimEr 1951-2011

» TR /TR TR SHEEAT A TH

Hpel hl FEAT (&STRI H) SR % e (%)
1951 2,843 62,443.7 17.29 41.42
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,59,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 27.78 31.13
2011 7,935 3,77,000 31.16 31.08

(13.1) orT uTeh o G TWRISHIUT 1 CIhIT Jfg T STUTA Taifersh o ?
(13.2) &1 SR TR &l # i gig o T formal < sron 6t samen i |
Study the following table carefully and answer the questions that follow :

India — Trends of Urbanisation 1951-2011

Year Number of | Urban Population % of Total Decennial
Towns/UAs (in thousands) Population Growth (%)
1951 2,843 62,443.7 17.29 41.42
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,59,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 27.78 31.13
2011 7,935 3,77,000 31.16 31.08

(13.1) During which decade the percentage of decennial growth of urbanization was
maximum ?

(13.2) Explain any two reasons for the regular growth of towns and urban areas.
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e fTmfafed e shae gieeaiom ThemfEt < e T s 13 F M WE : 1+2=3
(13.1) ORI & o AR B 2

(13.2) RA ¥ SEai 3R TR 6 g & Foheal g ron 6t e i |

Note : The following questions are for the Visually Impaired Candidates only, in
lieu of Q. No. 13.

(13.1) What is the meaning of urbanization ?
(13.2) Explain any two reasons for the growth of towns and cities in India.

14. ‘Tusc d4fg ekl § 9RA i AT § Y@ deald T & a7 389 ¢ § -39
gfterda ot yrferd feram 2 |7 IeTetvn afed e i gfee Hifv | 5x1=5

“India has undergone major changes within the economy over the last five decades and
this has influenced the land-use changes in the country.” Support the statement with
examples.

15, “YRd Tl -Te TR SR & JAWgR 2 |7 38 52 1 =ARETd 3aUsy | 5

“The Indian seaports are the gateways of the international trade.” Justify the statement.

16. ‘greg-qor 3NN v o faem o fofu Iawert foh=di uTe Sga Sl Sl =me
AT | 5x1=5

Explain any five favourable factors responsible for the development of ‘Mumbai-Pune’
industrial region.

17.  fou o ar-shafeam temmmt 1 grauigdes srerm i 3 39 = feu e w4 @ 3w
faRau : 1+1+3=5

Ccn
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(17.1) 38 0T o g1 {40 o WM o I foifaw |
(17.2) Y wewr 37X 3frenfies yew w1 am forfgu, {2 tommt o 2 |
(17.3) 38 {THN i SHATS] shi 3TRIH G+ 1 gl a1 @ ?

Study the following map of Trans-Canadian Railway line carefully and answer the

questions that follow :
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(17.1) Name the terminal stations of this Railway line.

(17.2) Name the agricultural region and industrial region through which this line

passes.

(17.3) Why is this railway line considered as the economic artery of Canada ?

e Ffafad o e gfeeaiia aheafi & fore ye @ 17 % WH W E
1+1+3=5

(17.1) “UR-TETET ICTHT 31 shl TRATiyd HifT |
(17.2) TSI o TR-HETGH TeTH T & 3Ff<m R o Wi o 7w feafae |
(17.3) 38 {GTHT o 311 Ha ol T I |
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18.

19.

20.

21.
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Note : The following questions are for the Visually Impaired Candidates only, in
lieu of Q. No. 17.

(17.1) Define the term ‘Trans-Continental railway’.
(17.2) Name the terminal stations of Trans-Continental Railway of Canada.

(17.3) Explain the economic significance of this Railway line.

A | SHEEAT & TTH0-THE" TaT9 o SHTfehehd 3T HraTRSes qROmE! i A= T
T8 W@ 6T | 25+ 2V

Examine critically the demographic and social consequences of rural-urban migration
of population in India.

Tomma @ 1 JIBU™ & 2 G991, Fad DY, IcqTeshdl 3T Haienl {8 TR
T T & IR &Y 8 7 T I | 1+4

What is the meaning of ‘development’ ? Explain how equity, sustainability, productivity
and empowerment are the four pillars of human development.

el SR H1 91 31 7 ? A fquve w3 TR foaavm i <t el S-a
feroryanati 1 9 HifT | 1+2+2

What is the meaning of ‘retail trading’ ? Describe any two features each of Rural
marketing and Urban marketing centres.

R < feu mu goifaes t@r-amHfes | fe@m mu gt wimfaes @ o, A, B, C, D 3 E
&) g HIfST 3R 37 g8 9m F=fafad et 6 gee @ 396 g i 78 W@re
W%‘l’f\@ﬁz 5x1
(A) T THE T - w0

(B) T AL a1~

(C) T 3R Tex

(D) e Faiie w1 &

(E) U W &

=5

=5

=5

=5
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In the given political outline map of the world, five geographical features are marked as A,

B, C, D and E. Identify them and write their correct names on the lines marked, near them,

with the help of the following information :

(A) A major sea-port.

(B) An International air-port.

(C) An Industrial region.

(D) An area of subsistence gathering.

(E) A mega city.

e : ffaRaa we shae gfeeaTia ot < i T T@m 21 S _EWE: 5x1=5

21.1)

(21.2)

(21.3)

(21.4)

(21.5)

Note :

21.1)
(21.2)
(21.3)
(21.4)

(21.5)

stegforn o fpeft v e T - %1 T fefa |
3ol o SRS oG - <61 1 fetfm |

St 1 g SfENfh Jew B AR ?

SIS H fafe T & 1 ook Hig |

gt ot A e w1 A ferfay |

The following questions are for the Visually Impaired Candidates only, in lieu
of Q. No. 21:

Name any one major sea-port of Australia.

Name the international air-port of Italy.

Which is the major industrial region of Germany ?
Mention the area of subsistence gathering in Brazil.

Name the mega city of Nigeria.
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22. WRA % feu T uerifae W@r-aetea 8 frafatea dinfees eon s sugs et @
I8y 3T 396 9 feafigu - 5x1=5

(22.1) hEdT (hithl) T U IUTGH TS
(22.2) ufFem sTTTer H Ush HETEU! hiel G 8
(22.3) TeA Ve H gt o Fredl weh HEwIqul e
(22.4) TSI § T el TG -ITH

(22.5) TEH HH TGS T AT T

Locate and label the following Geographical features on the Political Outline map of

India with appropriate symbols :

(22.1) The leading Coffee producer State.

(22.2) An important Coal mining area in West Bengal.

(22.3) An important Centre of Cotton Textile Mills in Madhya Pradesh.
(22.4) An important seaport in Odisha.

(22.5) The State with lowest density of population.

e Freferiaa e et gfeesfta wenfial & ey e 2 F =M WE: 5x1=5
(22.1) WA o 3TUft e (HIAT) IcaTgeh T 1 A1 faRan |

(22.2) =T e @ & fohe Tsa | fRq R 7

(22.3) ToRIA % TRl U Hemayul Tt @ firedi & 3w o1 A fofan |

(22.4) TGN < HETEYUl TS -Uw 1 AW fofau |

(22.5) WA o ford T T SIHEEAT 1 O cd G HH © 7
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Note : The following questions are for the Visually Impaired Candidates only, in

(22.1)

(22.2)

(22.3)

(22.4)

(22.5)

lieu of Q. No. 22 :

Name the leading Coffee producer State in India.

In which State is Jharia Coal Mining area located ?

Mention any important Centre of Cotton Textile Mills of Gujarat.

Name the important seaport of Goa.

Which State of India has the lowest density of population ?

11
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Map for Q. No. 21
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TR ¥, 22 & T HEte
Map for Q. No. 22
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